ELEC 102 Electronic Circuits Hour Exam II Fall 2000
November 14, 2000 Time: 6:30:- 7:45 pm

Name: S U(W\’i on Department: Seat number:
SwdentID: S O‘"‘P\e’ Email address:

Note: Show all your steps, method chosen to solve the problem, and formulas used
as clearly as possible to maximize your credits. You may use the back side of the
exam papers for your rough work. Allocate time to each question proportional to
the points assigned to each problem. Make sure you answer all the questions asked
in each problem.

Questions QI Q2 Q3 Q4 Q5 Q6 Q7

Points

1) In the circuit shown below, the switch is moved to position 2 at t = 0 after being in position 1 for
along time. Find i(t) for t > 0.(15 points)
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2) The switch in the following opens at t =0, find v(1) for t > 0.(20 points)
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3) Find Vj in the following network.(20 points)
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4) A lagging load with a power factor of 0.75 consumes 40kW of power. The load voltage is 220
£0° Vi at 50 Hz. The impedance of the line is 0.08 + j0.4 Q. Find the voltage and power factor at the

imput of the line. Determine the value _of the component needed to improve the PF to 1. (30 points)
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5) A series LRC circuit has a resonant frequency of 2000 rad/s and a bandwidth of 100 rad/s.

Determine the values of L and Cif R is 5 Q. (15 points)
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6) Given a 5k and a 10kQ resistors, some capacitors and inductors, desi gn a low pass
filter with a cutoff frequency of 10 rad/s and a high pass filter with a cutoff frequency of
100rad/s by specifying the values of the C and/or L. (15 points)
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Use the node-voltage method to find the phasor voltage VO in the circuit below. Express the

N
voltage in both polar and rectangular form. (20 points)
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